Q. P. Code: 27773

(3 Hours) [Total Marks : 80
INEBUS 1) Question No.1 is compulsory. ~
2) Attempt any three from the remaining five questlons
3) Answers to sub-questions should be grouped together
[. (a) Explain any two instruction addressmg modes with suitable (05)
examples of each. |
(b) Simplify the following Boolean expression using Karnaugh Map (05)
F(A,B,C.D)=>(1,3,8,9, 11, 13, 14) +d(5, 6)
(¢) Discuss the working of an Half adder with its truth table and 01rcu1t (05)
diagram.
(d) Explain the structure and workmﬂ of an SRAM (05)
2. (@) What are Multiplexers and de- multiplexers‘? Explain its usein logic (10)
cireuits. Construct a 1: 8 demultiplexer usmg basu: loglc gates and
derive its truth table.: - RIRNNPNIN £ AP
(b) Explain the role of registers m a CPU DISCUSS the orcramsatlon of (10)
registers in a CPU MO TARARIEE & “‘: ¥
3. (@) Whatis a Control Umt‘? Explam the basw functlons of a Control (10)
Unit. Discuss the basw model of a control unit along with its
internal organization.: .o o7 -:' YR |
(b) Explain, how are multlple instructions executed by a processor. (10)
Discuss the six stage mstructlon plpelmmg mechanism with the
s_help of atlmmg dlagram £, CRAR
4. (a), “'Dlseuss the use of a Cache Memory Explain various Cache (10)
~ mapping techniquess. &~ <0 oo
‘(b) - What are mterrupts‘7 Explam methods for handling interrupts. (10)
5. (a) -*Explain the basic orgamzation of an I/O module with its block (10)
diagram. Discuss the Programmed [/O and Interrupt driven
techniques for I/0O operation.
(b) -~ What 15 a RAID? Explain various RAID Levels in detail with the (10)
ihelp of appropriate diagrams.
6. erte Short Notes on any four of the following: (20)

(a)Flynn’s Taxonomy

. (B)R-S Flip Flop

“ . (c)Bus arbitration methods
| (d)RISC v/s CISC

(e)Bus interconnections
(f) NUMA
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Note: (1) Question no.l is compulsory.
(2) Attempt Any Three question from Q. 2to Q. 7.
(3) Figures to right indicates marks.
(4) Additional information can be considered but justify the same.
(5) Write assume data for case study,

g
L Write a Short on Following (Any four). e, ﬁﬁ.ﬂ .
(a) Currcnt Trends in IT F-Q
(b) Social Responsibilities of IT m;,;&“
(¢) Internet governance ")
(d) Manager’s Responsibilities for Information Technology s f"‘
(e) Roles of IT in M-commerce Qc;“
(f) International Business using IT X
3
2.  (a) Explain IT design variable for Online Airline Reswﬁfon system.. 10
(b) Explain risks of'a global IT strategy also m_;plaigfi‘ts benefits. 10
xﬁj'}
3.  (a) Listand Explain in detail Contents of an Ia?grmaﬁan System Plan. 10

(b) Analyze the statement “key challenge &rmgament is the mtegranon of 10
information technology and the bug{less

7 ?3) .
4. (a) Explain stepwise process to @age information Technology internationally. 10
(b) Explain the necessities to g;afquire technology in a firm. How to check for 10

b oy
maturity of technology®s.

5. (a) Identify and evaludtedifferent option for regulating and managing acquisition 10
for Ter:hmlﬂg?
(b) List the dr\.!wbacks of workplace monitoring. How should managers introduce 10
orgamagﬁ&nai changes that employ technology?

6. (a %5@1 Role Of Computcr in “The Calyx and Corolla website (for managing | 10
"tdehvery of flowers online)” considering perspective of all stakeholders.

) Detine Information Technology. Classify different type of [nfunnatmn 10
*\“& System availablc in modern organization.
R
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Change in the instruction are-. *
Q.1 is compulsory question
Solve any 3 from Q. 2 to Q 6
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N.B: () .1 is compulsory
2 Attempt Any Three questions from Q@

3. Figures to right indicates marks A "r' -
4. Additional information can be cnnﬂ!e

Q.1 Write Short on Following (Any Four)
a. Role Of Computer in Modern Busines:
b. E- governance
c. Roles of IT in E-commerce . q fans m
d. International Business using IT . S
e. Added Valueof The CIO -~ - = |
; f. Value Chain P gets
‘” achn&,l';:&gy}elanagemem 10
10

__'..-’I_'\L s o iy "‘l:.

Q2 a) Summarize key managemenl Jssues f;}r .
b) Explain SteleEE pmcass to manage u '

Q.3 a) Idﬂntlfé{ and ewﬁﬂatp d:ffere.n __5 ) h:n:gula‘qn gﬂnﬁ.\managmg acquisition. 10
b) llenge: Qﬁ@ana,gemgut is the integration of information 16
. , .:._\Q\-, o Sﬁ ;:.. "
Q.4 E _' Exp be of a I IT strategy. Aisa assnmated risk 10
= e Jﬂﬂfypas fnf mtematmnal business strategies. 10
& :
D e AR R ; L e 3 A
Q57 wa) Listand | detali Cﬂntents of an Information System Plan 10
e o) S 2
u“:\:'_{'?.&}' ll]
_.".': 2 __'E:"H L -
'_:-‘:.ﬁ.;;'\l .-r;‘:‘;,_'\;‘h?‘l-?\'—'_:- i . -_ "‘I\ |,- e 1. i
-_:‘-5,-{;:_3% ; a an o ‘a;re thr.% n::lc of Information Technology in E-Commerce and M- 10
.';-‘--. i q,"',a\ \:: r"_'\.
jh 3 "'H: ':‘."" . B
S A 1
T R LT :
.}:x 2 "“-."'J;'".-"f :
VLS AR £
:,:.';ﬂ-‘l"'_'f:‘_“g _‘-__If ik
g % e oL a0 OF
"Hi_'r::?'k’:'}?#'\ﬁ - i
ttt\\-.-“.rn;' £ G’ A AL = 3‘-‘-;-- '5-|
e S AN e S G AV L S Loy AR EN D e
7"‘-.""‘&"“"-"]-."‘\:!-'-“)" P g v o T %
TR A S T 8 ANV S AT
Rt ;.E'. G S A i t-\‘:' B A R RN
SR T IS NS
TR R S O
i L...1 7 X -"-’l}_ e g.kx,ﬁ'\ S POl gy oty
- ||.._'->" Q" "'\.I,, ";':'IF ';:"_‘ LBl e .-1:: R F-.f-u-
s - 'f‘?h ‘;11- ' ,.-.._‘?.: \f‘? _;-:__- o _'-,_- _'; ..}-:._- : :\.
G Ee o 2 O S A B ol D 1
N R R W o e
q- ST el T ‘\,1:\ ted
a a-::"‘}%_}"— o -.‘3’.—-“‘#1@ o g b 4
0w e "-._l"' . .r'_.:;‘:. _:;'l\ b
SRR RS 7879AB9848BCAT4B209B152B508722EE



mea (cBgasd-T Ao B B B

OL’J" o ?m’“*’uﬂ ﬁﬂW“””étp. Code : 750702
Chotee~ Base o

(3 Hours)
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N.B.: 1) Question No. 1is compulsory. |
2) Attemptany three from remaining five questions, Q
"N
. (a) What are Programming Paradigms? Explain Procedure Oriented and Object Oriented l.%sz
Programming Paradigms in detail, L W '
(b) What is Dynamic Memory Allocation? Design a Class DynamicArray with data[](inf) and size(int) ;:‘30
as data members. Add a Constructor taking size as a parameter and allocate memory for the*
array Dynamically. Add Methods to store integer elerents in the array and print the elmé%’@of

the array. A cf_?\
W
2. (a) DesignaClass Counter with Count(int) data member. Overload ++operatorfor pe- increment 10
and post-increment of integer Count Variable. {}Q :
(b) Differentiate between W) 10
1. CandC++
2. Pass By Value and Pass by Reference vy
Y
3. (a) Whatis use of Constructor and Destructor? Explain diffequiﬁéﬂv of constructors with suitable 10
example.
(b) Whatis Inheritance? Explain Public, Private and Pm%ecgtﬁiherifahce witha suitable example 10
of each. N

4. (a) What is Template? Explain the concept of -Fgué:ﬁi’;n-‘l‘ emplate. Write a template functionfor 10
addition of its arguments. Instantiate it for gpéi-‘&targ,- integers and floats.
(b) Explain Exception handling mechanism@ii,“d—{-. Write a program to handel DivisionByZero 10
exception. B
-
5. (a) Whatis polymorphism? Explainith example how polymorphism can be achieved at run-time, 10
Add a note on Virtual destrugtors.
(b) Whatare Different File Opeping Modes? Declare a person class-with age(int) and name(stimg). 10

Write a program to store and access the object of person class into and from binary file.
X
=
6. Write short notes.on (atty four):

a) Usesof Eg{pli&:’ﬁhﬁd Mutable Keywords 20
b) Static datamembers and functions
¢) Bimﬁﬂ_&-@gémtﬂm in C++
d) Namespacesin C++
¢) TypesofPointers

%V
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Please check whether you have got the right questgnr‘l gapEr Rl S
N.B: 1, Question.No.1is Compulsory. S LD Pl
2. Attempt any three from reaming five questions. s : -.:’ 1"3‘,::13
PR
Q.13a) What is a Class? How will you create a class in C++7 What are different elements that can be addeﬁgg a CFass'-’ 10
Explain with a suitable program. S _4: B %

b) What is inline function? What are restrictions on use of lnlme functscms? Wnta a. prugrargjﬂ \‘fnplqggent the 10

concept of inline function. A i o
. Y. 2 .2 g .h “ i .a,"':\-f g
Q.2 a) What is Operator Overloading? Explain how you will Dverload a hrnar\,r nperator w,;m a sultaETe programming 10
Example i '\.-'" .-::.-"'.
:... ﬁ:.f;c:'.
b) What is friend function? What is need of friend function? WT‘itE a program tt}\‘lll.'\lg;raté the use of friend 10
function. 3.‘- T &
Q.3 a) What is inheritance? What type of ambiguity occurs in multiple mhqﬁaﬁ&é@%ﬁd how is it resolved? 10
& - . ;—*
b) Explain the differences between; : ot “*7-:,-_--?‘ 10
1) Static and Constant 3 o -’v"'hl&; b W
* o A S
| SR 7 ‘s’i-. .-;':3 =
2] CandC++ x : Y
= |
& "L Iy
Q.4 a) What is Tempiate? Explam the concept of Class Te:)q&alate *%ﬁ‘t‘e G| pmgram to implement the use of class 10
template. : .-,5.' b ¥ .
. b -,h- "
b) What is pnlvmnrphlsm? Explain with exam piff?éﬁlpﬁﬁmﬂrphlsm can be achieved at run-time. 10
Q.5 a) Declare a student class-with roll ng, nanmglﬁmﬁ?ess Wnte a program to store and access the object of 10
studem: class into and from binary @m
b) What is Exception Handling? erg_gﬂpgraym to create and handie user defined exception. 10
Q.6  Write short notes an (any fq’ﬂr] 20
' a] New and delete operators \ V4 H,.j-"
~b)This pointer &Q P
\ 'c}-NéMeS]ﬁﬁﬁEs.in..Gfﬁ T AR
B} Manipufatnrﬁh;. “d’h*"
g & ‘f‘hb

7 IE‘) Lﬂﬂpﬁ*iﬂc*ﬁgg‘v "':
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(3 Hours)

Question No. 1 is compulsory.

Attempt any THREE out of remaining five questions.
Assume any necessary data but justify the same.
Figure to the right indicates marks.

Use of scientific calculator is allowed.

Total Marks: 80

Q.1

Mean and standard deviation of 100 items are 40 and 10. If at the time of
calculation two items are wrongly taken as 30 and 72 instead of 3 and 27, find

the correct mean and standard deviation.

[5]

b)

In the frequency distribution of 100 families given below, the number

families corresponding to expenditure groups 20-40 and 60-80 are missing.

The median is known to be 50. Find the missing frequencies.

Expenditure (in Rs.) No. of Families
0-20 14
20-40 7
40-60 27
60-80 ?
80-100 15

of

5]

A box contains 36 tag numbered 1 to 36. One tag is drawn at random. Find the
probability that the number on the tag is either divisible by 3 or is a perfect

square.

(5]

If X is a discrete random variable, then prove that :
i) E(aX +b) = aE(X) +b
i) V(aX +B) = a*V(X)

(5]

Q.2

If X and Y are two random variables having joint probability density function
fixyl & 2630 0<x<1, 0<y<x

=0._ ; otherwise
Find the marginal density functions of X and Y.
Find conditional density function of Y given X and X given Y.
Check for independence of X and Y.

)"
i)

i),

[10]

b)

Calculate the Bowley’s coefficient of skewness for the following distribution.

[5]

Class

05-10

10-15

15-20

20-25

25-30

30-35

35-40

Frequency

07

03

16

22

14

12

3

TURN OVER
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c) | Use the Stem and Leaf plot to answer following questions. [5]
Stem Leaf
6 114678
7 23579
8 138667789
9 00346899
10 0O
i) What is the best test score?
i) How many students took the test?
iii) How many students scored 907
iv) What is the lowest score?
v) Find the difference between the high and low scores.

Q.3 | a) | Ten competitors in a beauty contest are ranked by three judges in the [10]

following order. s .
Judgel | 1 | 1 |5 (a8 | F /W PO [7] 3] 2
Judge2 | 2 | 4 |8 | 7 | 64mb b9 103 2| 1
Judge3 | 3 | 6 |7 |8 | o] 59| W0 |9 [ 2|3 [ &
Use rank correlation coefficient ta discuss which pair of judges has the nearest
approach to beauty. :
b) | Let X be a discrete random variable with the following p.d.f. [5]
X 0 1 2 =
P(X) 1/3 1\2 1\24 1\8
Find E(Y) where Y = (X - 1)2
c) | The letters of the word “failure “are arranged at random. Find the probability [5]
that the consonants:may occupy only odd position.

Q.4 | a) | State and prove Baye's theorem and use it to determine the probabilities in | [10]
the following example: In a bolt factory machines A, B, and C manufacture
respectively 25%, 35% and 40% of total. Of their output 5, 4, 2, percent are
defective bolts. A bolt is drawn at random from the product and is found to be
defective. What is the probability that it was manufactured by machines
A;B,C? :

b).| Show that whether A and B are independent, positively associated or [5]
negatively associated.
(AB) =128 , (aB) =384, (AB)=24 , (aB)=72

TURN OVER



Q.P. Code : 751002

3

The following figures show the distribution of digits in number chosen at
random from a telephone directory.

Digits [0 |1 |2 [3 [4 |5 |6 |7 [8 |9
Freq. 1026 | 1107 | 997 | 966 | 1075 | 933 | 1107 | 972 | 964 | 853
Test whether the digits may be taken to occur equally frequently in the

directory. (Given the table value of chi_square for 9 degrees of freedom at' 5%
level of significance is 16.92)

5]

Q.5 | a) | An analyst takes a random sample of 100 recent truck shipment madebya | [10]
company and records the distance in miles and delivery time to the nearest
half-day from the time that the shipment was made available for pick-up as
given in the table below
Distance | 852 | 215 | 1070 | 550 | 480 | 920 | 1350 |.325 ﬁf{} 1215
In miles
(x) .
Delivery 35| 1 4 ~ S T ° 3 AR 5 | 3 5
time in
days (Y)
i) Determine lines of Regression Y on X and X on Y
i) Find Karl Pearson’s correlation coefficient
i)  Estimate the delivery time in days for 1000 miles
iv) Estimate the distance in miles for 2.5 days.
b) | Find the quartile deviation for the following data: [5]
Class 0-15 15-30 | 30-45 | 45-60 | 60-75 | 75-90 | 90-105
Interval
Frequency 8 26 30 45 20 17 4
¢) | The probability that a persen stopping at a petrol pump will ask for petrol is [5]
0.8, will ask for water is0.7 and for both is 0.65. find the probability that the
person will ask for :
i) either petrol or water™. ii) neither petrol nor water ili) only petrol
Q.6 | a) | Draw Box and Whisker diagram for the following data set [5]
3.: ?! ?J 3: 10, 1; EJ b
b) | Test the consistency of the following data with the symbols having their usual | [5]
meaning®. N=1000 , (A)=600, (B)= 500 , (AB)=50
c) | A machine is design to produce insulating washers for electric devices of (5]
average thickness of 0.025 cm. A random sample of 10 washers was found to
have an average thickness of 0.024 cm. with a standard deviation of 0.002 cm.
Test the significance of the deviation. Value of t for 9 degrees of freedom at
5%level is 2.262.
d) | A continuous random variable has pdf [5]

f(x)= k(2-x), 0<x<2
= kx{x-2), 2=<x<3
=0, otherwise

Find k and median of the distribution.
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Q 3 (a) TABLE READ AS FOLLOW

Judge | 1 5 (4 |8 |9 |6 0N (7 |3 |2
:

Judge|4 (8 |7 |6 (5 s9.%10 |3 |2 |1
2

Judge(6 |7 (8 (1 B\N10 |9 (2 [3 |4
3
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Q.P. Code : 751002

3

The following figures show the distribution of digits in number chosen at
random from a telephone directory.

Digits [0 |1 |2 [3 [4 |5 |6 |7 [8 |9
Freq. 1026 | 1107 | 997 | 966 | 1075 | 933 | 1107 | 972 | 964 | 853
Test whether the digits may be taken to occur equally frequently in the

directory. (Given the table value of chi_square for 9 degrees of freedom at' 5%
level of significance is 16.92)

5]

Q.5 | a) | An analyst takes a random sample of 100 recent truck shipment madebya | [10]
company and records the distance in miles and delivery time to the nearest
half-day from the time that the shipment was made available for pick-up as
given in the table below
Distance | 852 | 215 | 1070 | 550 | 480 | 920 | 1350 |.325 ﬁf{} 1215
In miles
(x) .
Delivery 35| 1 4 ~ S T ° 3 AR 5 | 3 5
time in
days (Y)
i) Determine lines of Regression Y on X and X on Y
i) Find Karl Pearson’s correlation coefficient
i)  Estimate the delivery time in days for 1000 miles
iv) Estimate the distance in miles for 2.5 days.
b) | Find the quartile deviation for the following data: [5]
Class 0-15 15-30 | 30-45 | 45-60 | 60-75 | 75-90 | 90-105
Interval
Frequency 8 26 30 45 20 17 4
¢) | The probability that a persen stopping at a petrol pump will ask for petrol is [5]
0.8, will ask for water is0.7 and for both is 0.65. find the probability that the
person will ask for :
i) either petrol or water™. ii) neither petrol nor water ili) only petrol
Q.6 | a) | Draw Box and Whisker diagram for the following data set [5]
3.: ?! ?J 3: 10, 1; EJ b
b) | Test the consistency of the following data with the symbols having their usual | [5]
meaning®. N=1000 , (A)=600, (B)= 500 , (AB)=50
c) | A machine is design to produce insulating washers for electric devices of (5]
average thickness of 0.025 cm. A random sample of 10 washers was found to
have an average thickness of 0.024 cm. with a standard deviation of 0.002 cm.
Test the significance of the deviation. Value of t for 9 degrees of freedom at
5%level is 2.262.
d) | A continuous random variable has pdf [5]

f(x)= k(2-x), 0<x<2
= kx{x-2), 2=<x<3
=0, otherwise

Find k and median of the distribution.
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:
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3

Query Update time: 21/12/2016 12:35 PM



2

~Q.P. Code : 26361
[Time: 3 Hours] &5 [Marks: 80]

Please check whether you have got the right questlon paper

Questions No. 1 is compulsory. N -

Attempt any THREE out of remaining fiye questlons

Assume any necessary data but justify the same SRR

Figure to the right indicates marks. S AN AV TR B € RN
Use of scientific calculator is allowec__l_.- SRR TS 8 Sl RS

N.B:

WASE ST B

A) The mean and standard deviation of 200 items are found to be 60 and 20 At the time of 05

calculations two items are wrongly taken as’ 3 and 67 mstead of 13 and 17 Fmd the correct
mean and standard deviation.

b) In arandom arrangement of the letters of the wmd 'COMMERCE' f' nd the probablllty that all 05

the vowels come together. SN AT AR K
¢) Find the coefficient of variation for thefol[owmg data AN k'-‘-'_"-:\.__:'_: A OSEER 05
12,17,20,16,13,11,18,12,18,13 - SO PIARSERGY PSR
d) Let X be random variable w1th the followmg probablllty dlStI‘lbutIOH F 1nd _ 05
E(2x+1)? RN T IS S _:\;“,;_.'4}5.}?\_&‘.4, 38
X 5.‘3_,; YR CNAPGED Dl DTN S
P(X =x) s:".l'?6i"_,-:'--“ SIS 172, '*1"--:?‘;:5‘s’*’lr‘;w‘ 173
a) The joint density. leI'lCthl‘I of the tWQ dlmenslonal‘random Va i Kle X, Y) is given by 10
IS given by &0 PRSI s ;:-;_Hw AR
fiy (X, y) x3‘~y-"‘/ 16 S Q S s 2 0? \psﬁ N HEIRN
LS00 “- othe:wméf Wy SN
Find the margmal dEIISltIES‘\Df‘X and Y \Alscrﬂnt\;l the cumulatwe distribution functions of X
and Y SNV AT D .‘*- S ,f“ Q'“,\ -. ‘; S’*Q ‘;\. ;:\ _M_w'
b) Calculate Modal mqus for data gwen BRIOWE < (oS 05
Marks = ' 10-30:] .30 508150570 70-90 '90-110 [ 110-130
No.of Students > SHS RS ‘:\Jﬁlr«““ 3 12 8 6
N :‘M&-\\ \\ﬁ \: 3 ._"._‘ﬂ\k > x‘;‘_“:-‘?{‘ﬁt =)
¢) Fmd the S_Péarmans Rank c\g)rralautm* NSRS 03
0S 52> & LS4 .‘\\;;»_ }47'1; ' 65 43 34 54 65
P DR FDS \59. SO S| 68 82 60 57 58
- " AN *-:“Q"\ D f
a) The regress:on lme of’ y on x\for a ce‘tam bivariate data is Sy + 3x = 52 and the regression 10

hne of x on y is 2&%\}’ 30. Find:
. the arithmetic mean of x-and y
2. thecoefficiént of correlation between x and y
3. the most probable value of y when x = 10

b) We are given a box containing 5000 IC chi ps, of which 1000 are manufactured by company X 05
and rest by company Y. 10% of the chips made by company X and 5% of the chips made by
company Yare defective. If a randomly chosen chip is found to be defective, find the
-pmbabllh_y that it comes from company X.

e) If X'is a random variable and a. b are mmluntb then prove that 05
R V(aX+b)=a2V(x)

Turn Qver
CBOLAFEG372EAB1099FFA | VB77431077
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Q.P. Code 126361

2

a) State the Baye's theorem. Three machines A, Band C produce respecm ely 40%. 10% and SO

of the items in a factory. The % of defective items produced by the machme IS respecmel\ N
2%, 3% and 4%. An item from the factory is selected at random QK e

S - p ‘\.\_

. Find the probabillty that the item is defective: .= - SHCFSGEEY SE2

2. Ifthe item is defective, find the probabllltyihat the 1tem *aas produced bwnachme C
b) Test consistency of the fol owing data: PN SR, >3

w .

N =60 (AB) =25 (A) =51 (B) = 32 SOCSEESEL S IR

¢) Two hundred randomly selected adults were asked W hether TV shows asaw hole are pnmarll\

entertaining, educational or a waste of time. The reSpondents WEre cateaonzed by ﬂender Is
there a relationship between gender and opmlan m the populatlon mterest" R o7 DN P e

(Critical value of X% = 5.99) SO XL IQ D Qe RS X

Their responses are given in the table below ; 'H__u?“ VAT SR

Actual LA S Opmlon e > NS

frequencies LIRS e SR S, CHFMESIRNIGIe
Gender “Entertaining .o Edﬁcatiorfal' Vo | ~“Waste of time
Male SRR SN = WL NVt B 30
Female P A AR S E T AN _:;:'12' Kb 50

a) Calculate Bowley’s coefficient of skewness for the fv:)llo'mn'ulr NS =
Class 30-35[-35240.1"40-45| 45-5032750-55 - r“‘S*-GO
Frequency "SI 102V B0 AR SIS0 AS

b) The means of two samples of sizes 50 and I“(ﬁ)o":fespe'cti;'éﬁ* are 54.1 and 50.3 and the standard

deviation are 8 and 7. Obtain the standard dewatlon of the sample of size 150 obtained by
combing the two samples.. - S 3 N

c) Prove ' 1th examp[e that mutual mdependence does not imply pair wise independence.

ay _Calculate standard dewatwn for the follomng data:

203075 K 30 40 ~40-50- { +350-60 60-70 70-80 80-90

SERRENG. 7S -.;.‘-113'2- B153 140 51 2

- 0 " b, == -
» .\,"\I- "'\- 1-"

b) Show that whether A ndB are mdependent positively associated or negatively associated.
C (AB)= 128,“(11 B)= 84:; (A,B ) 24and (¢ p)=72
¢) Two d1c‘e are rolled Lat X 'denote: the random variable which counts the total number of points

on the. uptuméd faces Construct a table giving the non-zero values of the probability mass
ﬁ.mctmnh X _-C“ L3y S

- {'_ -
N ., '3“' x

d) The mean of marks ITLStatlSthS of 100 students in a class was 72. The mean of marks of boys
awas 75 whlle the1r number was 70. Find the mean of girls in the class.

—

_----Hﬁ_-_—h---_ﬂ-----------

CSOE4FE6372EAB1099FFA19B77431077 S

10

05

05

LS

10

05

05

05

05



S T8631 / T0238 STATISTICS AND PROBABILITY

S e g Cheice ot caping

[‘I"rne' 3 Hours] i .

Please check whether you have got the right queshcn paper SR T
N.B: 1. Question No 1iscompulsory : S h .
Attempt any three question of remaining .. =~ e o v 1

Assume any necessary data but justify. Qﬁé sq é_} : _'f':__f'- (“nﬁ

2

3.

4. Figure on the right indicate the full E:qtarki‘w -
p .

Use of scientific calculator is allcweg* >
_s*.;- ST, '
g ; E
Q.1 a) Find the median wage of the fcullnwmg_h‘.tnhuﬁuﬁ RS R N
Roll no. 0-20 20-40 ELE K ﬁafa V& o 80300 . S
Marks 5 8 SAT T 88 8 B v 2f
KV AR TSI I

b] The age of people in an old age home mt' RN S T
57 61 57 57 58 57 61 54 68§ 51 9"&4 60’4 85 51“5 46"

S6 5551 54 51 60 62 4355 56 61 52 69 6470 &
- Make a stem and leaf plot crffhe data. t & pR
i) How many pecpl&ﬁre SIyearzs s:ﬂd?

i) What age is the yuun\g&;tand the. uldeyt perscn?
iii) How many penp!e EEE Aﬂﬁivgﬁrs alﬁ? :

iy i, & "‘I—. ‘—'\_'__ x}] -...,h
¢} Whatis the prnhahlllt‘y’ that fourﬂs cﬁ‘l’t}‘e Q?.:usg:xt
"MAHARASHTRAY -« -, " 2iom 8 o RaRE &

m'ﬁn tugether at random fromtheurn. 05

d) An urn contains 7 white and: 3 rEd hajl& *_.;?'i' :
Fanalsn the |::rrr.ﬂ:|-.31I::tih'n,.r of getting ane

Compute the pmbabl I ity that he:thgnbﬁth éTh :

Q.2 a) Two dice aremtled Let X deno‘tes ah]élgh counts the total number of points on 05
the upturruéd ¥acE5 Coﬂstrul:ta tahi : ngt '- nﬁn :erd\ralues of the probability mass function.
b) If agmtlnuopswandom vanalﬁ e 05
_W[ﬂ;k{f—u), 1k L SRS A

--.--h; {w?h 2<%< 3 .
2, S D t:them;se
: :F‘nd k c::.;?, 3 e

Expenenc& 1nn o o 1
mnnths S

yelell | 162 | 310 | 95 | 82 (26| 33 2

TURN OVER

3321695B20842B155E053B118502D70F



drawn at random from each box
¢ Find the probability that both marbles are red 3
+ Find the probability that one is red and other is blue :

b) Let variable X have the distribution P(X=0) =
For what p is the Var(X) a maximum?

X 1 2 3
Y 2 5 3

df A:35 47 23 6 17 1 433?}",?
v: 30 46 33 4 23 8 :

\ES "
AL .3 L o
T % L o -_ LGP - &

Q.4 a) Two discrete random uanables)[ a,nd Y haue lmnj: p m. f. gw
X/Y e H T N i g™
1 ;tﬂ;f- < ’1‘;& = :-1;_112-"-'-' ey
2 oS IR --'1;4*-‘-

3 4 ,&m A2 S0 :
Compute the prcbah&ili;v“ef each cﬂhe follﬂwiﬁg‘"é#ent
1) X< 1.5 2) X is odd 3‘} ¥: Ism{:[d gwen the :

1-» '-. oy

1
. . e
5 e
A 0
o

Let X be rand;;m varmab}e wnﬁ-u fﬂi[ﬂwmg Nrol

ﬁii;lt wﬁs ducaﬁgred that the scores 43 and 35 were misread as 34 and 53
fthe mrrﬂqtadmean and standard deviation of the corrected figures.

_'\: '-._'"_:..- ‘--:'
i gsthSt Ei ap 'gear selected at random will contain 53 Sundays? 05

1, -

sﬂflment of skewness for the following 05
- '} "10-20 | 20-30 | 30-40 | 40-50
';J.*:“}' 20 12 6
TURN OVER
2
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-f"‘:"

C/]‘fus—l e p  THSLITONS STATISTICS ANDPROBABILITY €S
W Q.P. Cod wu {ARE
sz P et

d) For 8 observations the following results were calculated yx = 59, Ey .,.& 0y ;}r “‘“ r’“‘*«?" j‘n}‘,
Yy? = 256, Yxy = 344 find the regression equationsy on x. & & -“’{i~,—,_~. !

x
i

AV
!
TR A

Q.6 a) The joint density function of the two dimensional random varaablﬂgﬂ"’ﬁ ‘J '

s By
fey (2, %) -—’;—. 0<x<2 0<y<2
=0 otherwise

Find the marginal densitiesof X and Y . A
Also find the cumulative distribution functions of X a(_ui

=

b) Prove that E(aX+b)=aE(X)+b and V(aX+ b) =a* Vhﬂ:"" , o

n r~ »_ . ”\-'.' :{! it it
c) Give N=2500, (A)=420, (AB)=85, and (B)= ag;r e;ng tfne .;m si Eu
"“q_”'\ el o N

s
"\- iy oy

i £ oy

Lt I

d) The mean weekly sales of soap bars in d:pgftrﬁén\t,ﬁtqre&was 145‘.‘%

advertising campaign the mean weeklﬁa?&s 11&2‘*5{5?55 fbrr’a t&'plcgr
showed a standard deviation of 17. L‘Wa& ﬁwaﬁveniﬁp&céﬁpﬁgﬁ 51
4

( Given: The table value of t for thd £ atﬁ% mgﬁlfu:anfjeuel l$‘“h?’2 5

S *
-\" " w - el -
b T ,:‘._' e .‘M "‘ £ \

Q.7 a) Prove that with example that: ﬂ-l rée ewsnts méy he pasr wise mde_
independent. ..- = __, __a.'_ -ﬁ e

(;

1 black balls Box Il @auqﬁ@nﬂ fgti‘andi gla,u
drawn are first red argeli‘ mﬁdﬁ&tit&,mha‘f Ii ‘EﬁE prr.:r

c) Test the cnnslﬂe@tﬁf;;ﬁq aﬂ'aihr::igdata wi 05
N=1000, [a} ..an“n \‘m} =SG {ﬁ.eﬁ-su
Fan i . R
d) The nhseweda éa;p@ctadﬂgﬂutnﬁeix ‘ 51N E adlallﬁtlmes are given below. Test the 05
hypathes.rs tha{th“e.drpﬁ&iarrbixﬁa vel ¢ it '-Ii'/cianc?e*{} 05, and critical value for 5d.f. is11.1)
Dieface = {7 S AR . 5 B
‘;J_h_;e_ryga_:l NG g 23 24 16
{Hrequencies | 1

3321695B20842B155E053B118502D70F
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Please check whether you have got the right queshcn paper SR T
N.B: 1. Question No 1iscompulsory : S h .
Attempt any three question of remaining .. =~ e o v 1

Assume any necessary data but justify. Qﬁé sq é_} : _'f':__f'- (“nﬁ

2

3.

4. Figure on the right indicate the full E:qtarki‘w -
p .
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b] The age of people in an old age home mt' RN S T
57 61 57 57 58 57 61 54 68§ 51 9"&4 60’4 85 51“5 46"

S6 5551 54 51 60 62 4355 56 61 52 69 6470 &
- Make a stem and leaf plot crffhe data. t & pR
i) How many pecpl&ﬁre SIyearzs s:ﬂd?
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iii) How many penp!e EEE Aﬂﬁivgﬁrs alﬁ? :

iy i, & "‘I—. ‘—'\_'__ x}] -...,h
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m'ﬁn tugether at random fromtheurn. 05

d) An urn contains 7 white and: 3 rEd hajl& *_.;?'i' :
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Q.2 a) Two dice aremtled Let X deno‘tes ah]élgh counts the total number of points on 05
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drawn at random from each box
¢ Find the probability that both marbles are red 3
+ Find the probability that one is red and other is blue :

b) Let variable X have the distribution P(X=0) =
For what p is the Var(X) a maximum?

X 1 2 3
Y 2 5 3

df A:35 47 23 6 17 1 433?}",?
v: 30 46 33 4 23 8 :

\ES "
AL .3 L o
T % L o -_ LGP - &

Q.4 a) Two discrete random uanables)[ a,nd Y haue lmnj: p m. f. gw
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. . e
5 e
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Let X be rand;;m varmab}e wnﬁ-u fﬂi[ﬂwmg Nrol

ﬁii;lt wﬁs ducaﬁgred that the scores 43 and 35 were misread as 34 and 53
fthe mrrﬂqtadmean and standard deviation of the corrected figures.

_'\: '-._'"_:..- ‘--:'
i gsthSt Ei ap 'gear selected at random will contain 53 Sundays? 05

1, -

sﬂflment of skewness for the following 05
- '} "10-20 | 20-30 | 30-40 | 40-50
';J.*:“}' 20 12 6
TURN OVER
2
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d) For 8 observations the following results were calculated yx = 59, Ey .,.& 0y ;}r “‘“ r’“‘*«?" j‘n}‘,
Yy? = 256, Yxy = 344 find the regression equationsy on x. & & -“’{i~,—,_~. !

x
i

AV
!
TR A

Q.6 a) The joint density function of the two dimensional random varaablﬂgﬂ"’ﬁ ‘J '

s By
fey (2, %) -—’;—. 0<x<2 0<y<2
=0 otherwise

Find the marginal densitiesof X and Y . A
Also find the cumulative distribution functions of X a(_ui

=

b) Prove that E(aX+b)=aE(X)+b and V(aX+ b) =a* Vhﬂ:"" , o

n r~ »_ . ”\-'.' :{! it it
c) Give N=2500, (A)=420, (AB)=85, and (B)= ag;r e;ng tfne .;m si Eu
"“q_”'\ el o N

s
"\- iy oy

i £ oy

Lt I

d) The mean weekly sales of soap bars in d:pgftrﬁén\t,ﬁtqre&was 145‘.‘%

advertising campaign the mean weeklﬁa?&s 11&2‘*5{5?55 fbrr’a t&'plcgr
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4
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Q.7 a) Prove that with example that: ﬂ-l rée ewsnts méy he pasr wise mde_
independent. ..- = __, __a.'_ -ﬁ e
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drawn are first red argeli‘ mﬁdﬁ&tit&,mha‘f Ii ‘EﬁE prr.:r

c) Test the cnnslﬂe@tﬁf;;ﬁq aﬂ'aihr::igdata wi 05
N=1000, [a} ..an“n \‘m} =SG {ﬁ.eﬁ-su
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